829, 880, 980, 1929 Ins.

G & #1 SCALE COUPLER HEIGHT GAUGE
ASSEMBLY INSTRUCTIONS

This Kadee® coupler height gauge is a multi-
purpose tool. Although primarily designed to
assist in faster and more accurate mounting of
Kadee® couplers, it is also a gauge for mounting
surface height, a track width gauge, a wheelsets
gauge and a mounting jig for installing our #842
uncoupler.

'00) sonpoid ANenpd ¢99pe) 21020 219260

V'S 9y} Ul 9peN
€0SL6 YO KD anym
:) SHHQAV g L9

JILVW-INOVW

abnen [paym

‘Buikip si an|b ay} ajiym uonisod
Jadoud ayy ui 1ajdnooun ay pjoy |im abneb ybiay
ay) sal} ay} 01 paiidde si an|b §| “eouele8|d ¥08Yd
01 3oeJ} 8y} uo paoe|d aq ued Ja|dnodoun ay} Yyum
abneb ybiay ay) yidep Jadoid ayy 01 sai} yoel}

Assembled gauge

This packet should include: 1 each 2-piece height
gauge, 1 each metal plate, 1 each coupler, 1 each
draft gear box, 1 each draft gear box lid, 1 each
centering spring, 1 each 4-40 x 1” screw, 1 each
2-56 x 7/16” screw, and 1 each 2-56 nut.

The #829 & #1929 also includes 2 each 2-56 x
1/2” screws and 2 each 2-56 nuts.

The #880 & #980 also includes 2 each 4-40 x
5/8” screws and 2 each 4-40 nuts.

ASSEMBLY

IMPORTANT: Before assembling coupler
height gauge, remove any burrs or flash (if
any) from all parts.

To assemble the coupler follow the illustrations in
these instructions. Add a “puff” of our #231 Greas-
em into the draft gear box. Make sure the coupler
flexes back and forth freely.

TIP: Hold coupler and draft gear box together and
install centering spring into slot using tweezers or
a small screwdriver between the end coils.

Attach draft gear box snugly using the 2 2-56 x
1/2” screws and nuts supplied for the #829/#1929
or the 2 4-40 x 5/8” screws and nuts supplied for
the #880/#980.

Align & secure the metal plate to the bottom of the
height gauge, use the 2-56 x 7/16” screw and nut.

Attach the two halves of the height gauge using
the 4-40 x 1” screw.

Tweezers

& metal plate

4-40 x 1” screw

locators

(F9/61 1) Inoge ,00¢" | 81edS O) ((F9/E} 1) £02'| 81edS |#) skemje soepns Bugunow oy doyrey (D)
((8/1 1) G211 21eas B) ((91/1 1) .5290° | B80S |#) shem|e suiiausd Js|dnod o} doyrey  (g)

*s1eak | Japun uaIp|IYD 10} JON
SHEed |[BWS - HYZVH DNINOHD

"(.8/1) G2 shempe souriesio ud du (v)

DONINHVM

/

Apoquapun sed abney ybioH

ay} Jo uo1108s e Ino Buinog Jayy “(y'614) si01e00|
inoj ay} usamiaq paltsluad pue yblay sy Jepun
ale|ld ayr 01 Joidnodoun a8yl yoeuy ‘sjied auyl
usamlaq paisjuad pue Jybiay Jadoid ayi aq 1l ey
epodwi st ) Ja|dnodun gy8# ¢S.29pey Bununow
Usym ©IFf HDNILNNOW H3ITdNOONN 'S

“red |9aym aoe|dal J0 ‘9xe Uuo 1IN0 JO0 Ul (S)[aym
Bunsimy Aq 1081100 "molieu 00} ale Aay} siofs Jo
apISul 8Y} UO Ny S|9ayM }| ‘apim 0} aJe Aay} S1o|S Jo
apIsino uo 1y sjeaym J| *Aj@al} ybnouyy ssed pjnoys
s|@ayM ‘(6 ‘B14) abneb jo apis uo sjols ybnoiyy
$188 |9dyM oY FONVHOD HLAIM TITIHM v

"S[Iel UMO InoA
Buihe| usym [nydjay si siy] (g ‘614) s|res usamiaq
abneb eoe|d ‘esn 0] :3DNVD HLIM MOVHL '€

"yblay awes ay e ag p|noys s1a|dnoo
ay1 eouewiopad ajgepuadap pue JusisISuod Jsow
ay} o4 "Ajjoexs yoyew pjnoys swybiay suipieiuad
J81dnod ay} ‘ebneb ayy o} dn 8AIOWOD0| 1O JeD B
JloYy ‘|eA8] sI abneb sy} pue s|iel 8y} JOAO UMOP
ale wolloq a8yl uo sjols 8yl ains Bupjew yoel}
8y} uo sbneb sy} dde|d IHOIFH HITANOD 2

abney jybiaH Jajdnon

Apoquapun Je)

"19]dnod ay) asiel 0} xoq Jeab Ja|dnod ay} 10}
aoeyIns Bununow ay} ul 8oeds B N0 IND IO J81S|0q
Apoq pue xonJ} usamiaq (S)wiys ppe ‘mo| 0l |

"18]dn0o9 8y} Jemoj| 0} 89eyIns Buizunow ay) pue
xoq Jeab J1a|dnoo usamiaq ssauxoly} ajeldoidde
Jo (s)wiys ppe ‘ybiy oo} si Apogiepun }| "abneb
ayl Jo doy ayy Jesjo 1snl pinoys Apogquapun Jed
ayl ‘(9'614) ebneb ayy o} dn is|dnodo e Ino
yum Jeo |jol pue yoely uo abneb jybiay sy} 189S

«00€’1 st Apoguapun Jed ayj 0} |1es
ay1 jo dol ay1 wouy palinbal souelsip ay; sia|dnod
jueys 19siajuad Buunow Apoq o4 - 8jeoS-9

«£02’ s1 Apoguapun Jed 8y} 0} |1es

ay1 jo doy 8y} wouy paldinbal aouelsip ayi si81dnod
jueys 19sJ8juad Bununow Apoq 104 - 9|edS-|#

‘ADNVYO LHOIFH IOV4HNS DNILNNOW 1V ‘'t

"HO paydums

Aj@191dwod Jamod |eo1108]8 8y} Ylim yoel} 10 Yoel}

palamod uou e uo pasn aq pjnoys . Ajuo, pue

pere|nsul Jou si 8bneb syl ‘NOILNYD 4O 8lou Y

3JONVO LHOIFH IHL ONISN



